PHYS 54z B0 2o
Havawsrl &

'G-Q ) P =\dﬁo>®x. ~ o B \o>< A\ =+ x“‘}g\ LY« Lg\T i< 4\

Plraalensolt A, K pT sy« A (TP )
: 2
SRV (AS E=<a) = AL @3<6\>

= Wlev <ol + T p o> =4 TR A 2 <00
+ \\%\?(’(1\’.\"341\ £ CPlo e D\)

(Hﬁ(l'i\\&\l foL8*

Zj 1-1=X = S?\: \)1*6/"“'\'6}/7—
NI S COL AT Y
T <(\-K/2§Jff> (R

S

) pe, 0O = | WU B Y Ol -
R AN
P“S\KX\: < X\\j:‘\x >
< (1« (OB W ()
SR A TV I COTN DY
SERRENES
= [l BT+ BT F s g Ve




\ézi VUM S 2=

\ :

SECR- (5\4_.‘1.*;.

\& 3*.:\0')‘*0{\43-‘}

WMSQJ@\{) = \ooo > +(}\f.\.i_o ~xdio 04>

%23(\“\_“‘&‘\];@\\5_3): \S © O .;__fg_\i_ 1o > #_Q\i o) :z_:;
f2 Y

+ % e o _
= \o 4> =\° 40>
Pfcse e ou fs <_‘_§_\ din \,u\_oo@& -
<ig\%13@’\fugu>® !“b\} = } fi_\/i_ o> *.‘.’.“L\e o>
. NEY
Discacl wde 2 = LG (L o
& =z
Norv«_uiii—t — \

(dis> +rlan)

fiwd®



W abE(Pxax P = che(aTT - at)

€M 41 1A> =0

=
£ o Z\<W\\-\\\i‘>\
' - WA A E(QB_C(‘D)
| -,
The ox

b MM\‘\&“C&M'&J oo N
— {7) ("& é;/)z \(E \ O\*z\ _’.‘._3\1

to 2

Y




£ 4 H‘:&K(Xf«z‘x, KZ+\<:B
W

]

ve = AN RNV L0 L4y cfoyxTex Lo 2 B ey ooty
A
s docuw yoeacthon

w@@

b}

<OA) WD A W, =2t &

\J% =72<1 0\ X X, ) 04>
= ’}:\\6 <4 o) (&l-r-qf‘\(ql-&&;}%\{) 4>

T A ¢4 o\ q e, 1047 = 1Y

2 N\

= \J\\ - "5\\6 ( . RO Qw%s?c‘q__ Q\A‘QQJ O i_b(

Cgrueatmen: ’t\zg) 2Ry

E‘%@auec’\‘oc\bx Ao 5 \o 4=
Jz




